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*BRELZOVL F=0BULERE B=2ERENR 5437 (1)
Bam | EFm | R= mEW | t&m | AEm | LEAKS | mEm | maim | E@m | BEm | RE;
TERA(ER) | 64556 73737 | 59239 |  64,899| 66,650 | 59,936 |  71,509| 67,547 | 65401 |  54,655| 68531 59,813
FIEME GRE) 0 0 0 0 0 0 0 0 0 0 0 0
TERA(BH) | 64556 73737 | 59230 |  64,899| 66,650 | 59,936 |  71,509| 67,547 | 65401 |  54655| 68531 59,813
ZERE | EHE | E@EE | JIH BEH | EEN | KN | LEE | AWLE | KBE | EIE | @A
TWERA(ER | 59,272 55006 | 73878 58,160| 38775 60,851| O1,753| 61539 | 69,677 66,634 73589 | 62,186
TIERE GER) 0 0 0 0 0 0 0 0 0 0 0 0
TWERA(AH) | 59,272 55006 | 73878 58,169| 38775 60,851| O1,753| 61539 | 69,677 66,634 73589 | 62,186
FLEE | BEN | BERE | KAE | =EA OB | 2BE | CRIE | mAtE | RSE | ERER || Reh
TWEMS(EE) | 58,061| 57,765 61450 | 75780 | 63,855 65862 | 76,698 78,758 | 58,253  65005| 45673 64,588
THERE GER) 0 0 0 0 0 0 0 0 0 0 0 0
TEMS (AT | 58,061| 57,765 61450 | 75780 | 63,855 | 65862 | 76,698 78,758 | 58,253  65005| 45673 64,588
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*RIEEZDEIL F=40FLULERNE, E=2FHERNZE BN (%)
=Y EFT o E ] FEEf Tk ZEIgT tTiEFKT BEM mA+m @t FEH BUEET
B (BR) 1.17 1.13 0.91 1.26 1.19 0.92 1.39 1.20 1.25 1.00 1.01 1.24
HEAE R GRE) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
HEER L (B 1.17 1.13 0.91 1.26 1.19 0.92 1.39 1.20 1.25 1.00 1.01 1.24
=TI ET A B HT ZHAET e+t B XA = pNIIES] T {EHT AILIET REHET £ )11 BT S A ET
HEER L (BR) 0.74 0.99 1.09 0.95 0.63 1.20 1.23 0.68 0.98 1.02 1.27 0.90
HEAE R GRER) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BB (B 0.74 0.99 1.09 0.95 0.63 1.20 1.23 0.68 0.98 1.02 1.27 0.90
th+ (£ BT B 1R ET KA HET =R+ LNODHET FEETHET =) BT 7o 75 BT 2iFET E AT E R B
HEERLE (BR) 0.81 1.07 1.03 1.13 1.32 1.03 1.23 1.58 1.02 1.28 0.74 1.13
HEAER L GRER) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
HEER L (5D 0.81 1.07 1.03 1.13 1.32 1.03 1.23 1.58 1.02 1.28 0.74 1.13
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*REFELHDOEIL F=40BULERER BE=2FHENZ HAZ (%)
= &0 EFT RE FA E TiEh ZAlaTh TiEEBKH BEMN a5+ & Fx BFET
SEREALE (ER) 40.32 39.37 33.33 40.75 4241 34.15 42.53 38.66 40.54 34.48 38.58 36.41
SEEEALLL GRER) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
SERMERLE (BED) 40.32 39.37 33.33 40.75 4241 34.15 42.53 38.66 40.54 34.48 38.58 36.41
X FHT FH 27 Hr % BT eI+ BERF =N RN+ TIEET A LLIET AZHE 1% )11 E] FLRNET
EEEMALE (ER) 35.78 37.73 40.26 26.73 20.61 36.14 29.19 38.44 37.15 27.55 44.56 30.31
SEEMALLL GRER) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
EEEMALE (BF) 35.78 37.73 40.26 26.73 20.61 36.14 29.19 38.44 37.15 27.55 44.56 30.31
1t {ZH] BE# 1 IR T X REr =R+ LN ET R IRET =3I ET e 75 +B7 2 HET EERER A
SEEMALE (ER) 36.39 29.26 38.05 43.01 41.90 36.77 40.96 53.91 36.74 42.42 34.01 39.28
SEEMALLL GRER) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
SEEMALE (B5) 36.39 29.26 38.05 43.01 41.90 36.77 40.96 53.91 36.74 42.42 34.01 39.28




